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This subject consists of two Question Booklets. Question
Booklet- (A) is of MCQ type of question and Question
Booklet-(B) is of Subjective type of question (question-
cum-answer booklet).

Question Booklet-(A) MCQ Type has to be answered
first and then Question Booklet-(B) (Question-cum-
Answer Booklet). Question Booklet-(B) will be provided
to candidate between 11:20 AM to 11:25 AM.

AT fE2T / GENERAL INSTRUCTIONS :

1

HefT-10 (TFOTaD)

T4 AT (A) Sgfdbedld Uy WR AT 81 et
JATIH SHDBT 3R & HT

HAY - 9:45 Y el A 11:20 Yafed |

This Question Booklet-(A) is of MCQ Type of questions.
The candidate must answer this Booklet first.

Time-9:45 AM. to 11:220 AM.
ATGLTT Ydb Y faaruT OMR 3R I R R

Carefully fill up the necessary particulars on the OMR
Answer Sheet.

gmwm&nommmﬁﬁnﬁmm
{

Put your full signature on the OMR Answer Sheet in the
space provided.

T 94 YRdepl § el 40 Tg-[ahedia U € |

There are 40 Multiple Choice Questions in this Question
Booklet.

;r%ﬁu&raﬁaﬁ%lmu&rﬁamtrm1%ﬁaﬁﬁ
|

All questions are compulsory. Each question carries 1
mark.

T d 3R & U BIS 37 781 drel ATl

There is no negative marking for any wrong answer.

10.

(RR )

OMR 3R U=eh & U8 2 U Ue Il i &bl earyded
¢ dYT 37D AR B il

Read the instructions provided on page 2 of the OMR
Answer Sheet carefully and do accordingly.

Ud% 94 H IR fawey f&d M Bl 38 ¥ "ed 3ugad
3R DI 37T 3799 OMR 3TR TP TR BIH-dlh Tl
BHIAT B AT T HIAT died DIsc HoTH BT & TaHT B3|
U o1 ya afsida &1

Four options are given for each question. You have to
darken duly the most suitable answer on your OMR
Answer Sheet. Use only Blue or Black Ball-Point Pen. The
use of Pencil is not allowed.

B B & I YRAPT & 37d § T T4 gg 1 & g
HIfF0I %memﬁé@ﬁm;{%l

Use the page given at the end of the question booklet
for Rough Work. Do not do any Rough Work on the OMR
Answer Sheet.

PHUAT OMR 3R JFh TR U YA (A) P TR A H a1
OMR 3TR U d1&id Pl wicl S T3 GRADT (A) 379
3799 TTY & 57T Jhd &l

After answering Question Booklet-(A) in the OMR Answer
Sheet, please hand over the OMR Answer Sheet to the
invigilator. You are allowed to take the Question Booklet-
(A) with you.

OMR 3t Ub WR e Mg &R T e yded Urei
HIfFY 31=gYUT 3TUST OMR 3R UFe6 310 Il 37RR
3D ST TE hl ST |

Adhere to the instructions provided in the OMR Answer
Sheet very carefully otherwise your OMR Answer Sheet
will be invalid and it will not be evaluated.
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OBIJECTIVE QUESTION

1 5005 &I ITUTY TUTWEUS & a, b, a, b ¢
(1) 6x7x11x13 (2) 5x7x11x7x13 W _2:_2;&_2 @ Z;EZ:E
(3 5x7x11x13 (4) T A DS Tl
Ans. (3) (3) a_1=b_l=c_l (4) a_1¢b_1¢c_l
. a, bz G a, bz G
2. FRfUEAIEIRMTa=bq+rF¥ a=72,q=83R =0 5. (3
# aYb &1 e
W o 2 8 10. YOG THNEROTGH 20 +y =533 +2y =8 HIFA S
3 9 (4) 72 n x=2y=-1 2 x=-2y=1
Ans. (3) 3 x=2y=1 4 x=-2y=-2
. Ans. (3)
3. 327 UP e T B
W  gReg 2 Uiy 1. THERUT @™ ax+py +8=03R2x+2y +2=0 &
@  qute @ RS AU pHTa?
) P=4 2 P=-4
Ans. (2)
(3) P=#4 (4) Pz -4
4 32 e VAR G Ans. (3)
1 wid (2)  37HId 3ATqdT g
. , : 12. a3 3 Raa afeor
(3) 37 3HTad (@) STH A PIS TEl M (@)= -2 -3)
Ans. (1) (2 (x+2)>=2x(x?-1)
5. y = ptx) ST UT &gt wat 81 9859 po & AP Hi B3 (x-2) (x+1) = (x -1) (x+3)
T @ @) ISP TE
)/ Ans. (1)
- 13.  feama afteRor 20— 7x + 6 = 0 T fafdaapr TR &
* W 2 @ -3
3 1 @ 3
.
W o @ 1 AL
3 2 @ 3 14. O fEamd FH0T 22— px + 4 = 0 & T SR &1, AN p
Ans. (3) T AT &1
? (1) +3 (2) 4
6. FEUSx-15 DIYIAD 3 5 @ £2
w 585 @ 5,5 Ans. (2)
@ 5 5 (4 TTHADE TE
A A 15.  fEuma afiavuT 22+ 5x - 6 = 0 T °Td BT
ns. B n o 2 1
7. GfETEUS x-2x-8 B YAG a HR b B Al a+b BT AT # 3 2 @ 3
(n 8 2 -8 Ans.  (3)
3 2 @ -2 .
A 16.  AP.0.6,17,28,39,... BT AMd 3TaR &
ns. G (n 11 2 11
8. 3@ 3 W aIa W& wriawoll &1 3o ufadal 3 06 @ 6
¥y € a9 39F A et Ans. (D)
W T® 2 a .
3) a= (4) E EIIERG] 17. A.P.10,7, 4,...3’”303[“%
R W 97 @ 77
(3) =77 (4) -87
9. WHIBWI @@ ax+by+c,=0@qMax+by+c,=0 .o
; . @)
&1 311 &1 811, TS
EfT-10 (TTOTA) = FREINA. - wo I5-Hg-3R Teaw fongpew Rawor & (2024)




18. 2+7+12+...10 UG BTANT & 28. sin?A + cos’A BIAM#
225 2 235 W -1 @ 1
(3 245 (4) 255 3 =2 4 2
Ans. (3) Ans. (2)
9. wiafea? . 29. U HHR & AT BT 3707 BV 3HS IS A 15 m HI
() FEFY (2 wafmy A W 60° &, A TR 1 Hard @
3  @3ReEt @) T A DI TE @  20m @ 1503 m
Ans. (1) B 253 m @ 15m
20. AABCH D Ud E ®HM: AB IR ACc RafagEaur Ans @
DEIIBCEI 92 AD: DB =2:3RAE =16 mWEC 3, el e o e fam A it e et it
! Uil
O 123 @ 483 o 4 o 9
() 243 ) f 3 IS 8!
3 4 o FHADE R 2 4)
Ans. (3)
Ans. (3)
21.  Gf&¢ AABC ~ ADEF 3iR BC: EF=3:5, Y ar (AABC): .
(ADEF) SRTeR & o Jiar gy A 31Tefal & afd LOPA = 350, @Y LAOP ST 5T 81T
(1) 9:5 (2) 3:5
3 9:15 4) 9:25
Ans. (4)
. 350
22. fag3iiP(0,0)31RQ (-3, -4 FANTHIGH ? DY P
:) 25T EZ)) 35T W 550 @ 450
43PTS 4) 53HIS
3 60° @) 65°
Ans. (4)
Ans. (1)
23 fa=gail (1, 2) 31R 3, 4) B e I WTEUs &1 HEeA )
i ¢ 32. ufe gs fag P & O &< aTet {1 g9 WX PA U4 PB
W wa > 03 TR FATY TRER 80° & HIVT W [T &, @ LPOA
’ ’ Wt
3 40 @ (3,2 O 500 2 600
Ans. (2) (3) 70° (4) 80°
24. TfEA(0,0),B(4,0),C(0,1) GTAABCHTATBA ST Ans. (1)
w3 @ 4 .
@ 2 w 1 33. fFoddshqusdamasigae?
A @ W v @ 2nr
ns. . .
() 37r (4) AU I BIS TR
25. gfEcos A = % s aY cosec A SRTER 2. Ans. (1)
4 5 34. gfe fedt 31 @ H 57471 7 em &, A 3TST
3 @ = g EERIEaN
(3) % (4) % (1) 22.cm (2) 36cm
Ans. (2) (3  44cm @) SAHADIS T8
Ans. (2)
26, afk2sina= (3, MABIAAE 35. 42 cm 3391 A 99 & 39 FUWUs F ATBA T
1 300 2) 45° &1 f5rHehT BT 120° &2
(3) 60° (4 90° (1) 1838 cm? (2) 1848 cm?
Ans. (3) () 1858 cm? (4) STH A DISTE
Ans. (2)
27.  cot(90° - A) SRR & . . .
0 cosec A 0) cosA 36.  HATH B PR b 7ETS PHM:3 cm 4 cm U 12 cm &, AT
g1y & fawof Hr oaTs &
(3 tanA (4) secA M 12cm @ 13cm
Ans.  (3) (3) 14cm (4) 15cm
Ans. (2)
FH&fT-10 (TFOTa) —— FARIIRA. — weT dF-9g-3R qFaF fngew faawor 8 (2024)
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37.  9YH 9 AR YT HHATHY &1 9168 81T
(1) 1 (2) 2
3 3 @4 4
Ans. (2)
38. UUUl IRARAT dsb HEATC! &
(1 AR @ 3madfRE
3) &3Tm9 (4)  IRERCT I8
Ans. (1)
39. T 9RY B b UR TH TBAT 311 T UTiHar &
2 1
W 5 @ =
1 1
(3) ? (4) >
Ans. (4)
40. o d A siF A foa gear B urfaedr 7€) &) Tl ?
(1) 0.8 (2) 25
3 80% @ O/
Ans. (2)
HefT-10 (TFOTaD)
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TfOTd/ MATHEMATICS

| fwafFsuieR |

quifes: 40
Full Marks: 40
|y e
GENERAL INSTRUCTIONS :

g gRa®T - B) & T fowafs 2| I8
-9tk gRIPT §1 g gRA@T - (A)
(@gdHed) BT SR o & g & gaened ged
WM WR G998 IR GRADT | [T GRS - (B)]
EASEEA

Questions Booklet-(B) is of Subjective type. It is
Question-cum-Answer Booklet. The candidate
has to answer the Question-cum-Answer Booklet
[Question Booklet-(B)] in th space provided only
after asnswering the Question Booklet-(A) (MCQ
Type).

qeref I 31U veal H B SR < |

Candidates are required t give their answers in their
own words as far as practicable.

qIfel iR BIRMT W Ry gY &id o ffde a=d
g

Figures in the right-hand margin indicate full marks.
JE YTT—He—9R JRABT dF el # B, WUS-A,
WGUg-B, T4 WUL-C 3R A T BT HE&AT 19 B |
This Questions-cum-Answer Booklet is divided into

three sections: Section-A, Section-B and Sections-C
and the total number of questions is 19.

Gue-AH 7 A FY IR U 2, P 4 fhgl 5
Tl B SR ol AR € | WUe-BH 7 &g ST
g &, R & {5l 5 ueai & SR <7 1fvard 2 |
Wus-CH 5 <1d I U € o 9 6= 3 gl
% IR AT AFER B

In Section-A, there are 7 very short answer questions
out of which any 5 questions are to be answered. In

Section-B, there are 7 short answer questions, out
of which any 5 questions are to be answered. In
Section-C, there are 5 long answer questions, out of
which any 3 questions are to be answered.

TN B SR H daol b ¢ |

Only sketches are to be given in the answers of
construction.

|1 5 H1 UA—HE—SR gRA@T & ofd 7 g 1Y
T UR €l BIFY, 303 Hel el |

Do all rough work only on the last page of the
Question-cum-Answer Booklet and nowhere else.

Wi & IWid 9T GRAPI-(B) (Te7—Hz—gR<a)
fetd BT ler AR |

After the completion of the examination hand over
the Question Booklet-(B) (Question-cum-Answer
Booklet) to the invigilator.
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SUBIJECTIVE QUESTION

Section-A

1 IS VG fafr gRT 510 3R 92 ®T
HCF 3k LCM =ITd 1Y |

Bol— 21510 2192
31255 2146
s|ss s

17

510=2x3x5x17

92 =22 x 23

HCF (510,92) =2

LCM (510, 92) =22 x3 x 5 x 17 x 23
=123, 460.

2. §8US p(x)=3C+7x— 6D 9GS g(x) =x +3
d 9T AT 9 9NThd Ud IIY%d

forRay |
geli—p(x) =3x*+ 7x —6
gx)=x+3

y33 +7x—6 (3x
+9x
-2x—6

G @
0
IRTHel = 3x — 2
AYHA = 0
3. ABCU& wHfgarg Brgw & fod AC =
BC?| afs 4B =242, @1 Rig ey
f» ABC & wwaIv B 2 |

A

Tol—
C B
fear 8 — 4ABC v& wAfgag Bt & R
AC = BC® QAT AB? = 2AC?
BHe&T-10 (TIOTN

Rig & & — ABC & TV B30t 7|

T —
" AB? = 24C? (feam B)
" AB? = AC? + AC

AB? = AC? + BC? (" AC = BC)
TEATTRA Y9I & Il <,
ZACB =90

31d: ABC U |HDIV 39S & | Proved.
4. Afg Q(0, 1), a3 P(5,-3) 3R R(x, 6) |
UG © dl x BT A Hd DI |

gol— 0(@,1)

(5,-3)P R (x, 6)

a5 0(0, 1) [a=g=tl P(S5, —3) @1 R(x, 6)4
HGRY T |

* PO =OR

". PQ? = OR?

L (5-0P+(3-1p=
OS24 (AR =+ 52
25 +16=x2+25
Lx2=16

(x— 0P+ (6— 1)

Jox=+4
5. 1 fA®Ifery: Sin60° Cos30° + sin30° Cos 60°
Bol— Sin60° Cos30° + sin30° Cos 60°

FHMEIRA. — e IF-Tg-37 s frgresd RaRor g (2024)
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gol— ol 124)148(1
124
24)124(5
120
Y246
24
fear & A 0 % dren P g4 &, s =
iﬁ?%flﬁ%ﬁgPﬁﬁwaQaw 148> 124
P() = S a=148 TAT b = 124 AbR Yfdels GHRADT
Rig &1 8 -—PO = PR o e T

RGAT— O — PO — Q1 O — R &I e |
THTOT:—

148 =124 x 1 + 24
Y 24 £ 08, 3T 124 3R 24 & forv

L E W E R Rl g W e Ifers TARIPT BT W B R,
Sroar, st Y@ R o9 Bl 2

124=24 % 5+4
. LOQP=ZORP=90" .. (i) e 4402 TR 24 R 43 B
A 0QPTT A ORP ¥ TS AT BT T B
00 =OR (g7 @1 o) 24=4x6+0
ZOQP=ZORP (AH&ROT (i) 9) " IS 0 T 3T |
PO = PO (Swafss ) . HCF (124, 148) = 4,
RHS SelMTeeer &1 el & 9. TN Ry A T PfE—
A OQF = AORP 2x+y—6=03R 2x—y-2=0.
.. PQ=PR (CPC.T) EA 2y~ 6= 0. (i)
" PQ=PR. Proved. 2x =y —=2= 0. (ii)
7. @oid & RIa® @ T& R SBTad 2x+y—6=0% forg

2| e &1 gt ey @ gilRiedr Sd

IRT: (a) T /T (b) TP Ue al i i 2
T— ORI & Gl G =2 o r—y-2-0% e
(i) P (v fra) = j:f e ——— x| 1210
z y 0] 2]2
1
P (@ foq) = 5
3Rl IRV & F&AT
(ii) P (T Ue) Rol =81 gt
.'.P(QT:ETC’)=%
Section-B
8. 124 3R 148 &1 HCF Yfaas fawrem
TR &I YA HXD SATd DY |
HefT-10 (TFOTe) = FWRIIRA. — we d5-HE-3R Teaw fngew Rawor & (2024)
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q: d= v
6 Ans.
s,,=273
5
N 11. BYs ABC &1 &F%hd = bl fSds
’ ofiwt & fdena (-5, -1), (3, -5) 3R (5,2) ? |
z A
1 ga':_ (_5>_1)
-6 -5 -4 -3 2 -1, N4 5 6
5 x+y-6=0
_o -3
%'Vﬁ‘/o
B C
3,-5) (5,2)
_ ¢ T8t
S AHIERO BT BT B arell Y Ud =5, yi=—1
TR B g (2,2) W ufowss o=l 2| =3 hys=——%
..x:2 Ans' X3=5,y3:2
oy=2 AABC &1 &30 =
10. TP APH a=73R a,=35fam 2| dailx =S x vy (ys = y) +x (i = )]
s,, A1 TR | = L-s5-2)+32 - D)+ 5(-1-(=9)]
gol— " a=7 1
15 =5l xEn3x@+ D +5(1+5)]
13
d=2 = T135+3x3+5%4]
5., =7 = ${35+9+20]
" a, =35 (A1 B) =%><64= 30 I o
+ —
= 2t IO 37et: 33T T 1T 32 T T 21
= 7+ 12d=35 :
. cosA 1+sind _
L 12d=35-7 12. fag @i 1+sinA+ cosA = 2secA
d= 28 gol: L.H.S
9712 _ _cosA | 1+sind
d= % 1+sinAd cosA
319, ~ cos’A+(1+sinAd)’
n (1+sinA)cosA
8, = 2 [a—’_an:| 2 2 ; in?
13 _cosA+1°+2X1XsinAd+sin’A
S8y = o [atag] (1+sinAd)cosA
13 _ (sin’A + cos’4) + 1+ 2sinAd
-8, = 5 [7+35] (1+sind)cosA
-.-SB:ZXA& (1+sinA)cosA[' sin’A4 + cos’A = 1]
B __ 2+2sinA
S, =273 (1+sind)cosA
HeT-10 (TFOTD —— FREINA. - wo I5-Hg-3oR Teaw fongfea Rawor & (2024)
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2(1+sinA)

~ (1+sinA) Cosd

_ 1

= 2% GosA

=2sec A [ CosA ~sec A
=R.H.S

S.L.LHS=R.H.S Proved.
13 S5cm B35 & Uh gd W VAT & Wy
@ WY S 9RER 600 & DIV UR bl
&l |
Boli—

PA 3R PB I W @ & I ¥ |

14, MHT ¥ ©IIfhd 91T &7 &6 S DI,
STel ABCD 9Tl 14cm &1 b a7 2 |

Bol— A B

@t ABCD ¥,
AB = BC = CD = AD = l4cm
WWWW((Z)Z%

=7 cm.
WQHH%%IF&T(r)=%cm.
BRIIfhd WRT BT &k =
T ABCD &1 &3l — 4 X g Pl &3t

=(AB)* — 4 x mr’
2 22 7 7
- 2
(14) A x > X%’X

HefT-10 (TFOTaD)

=196 — 154
=42cm?

3T BYifhd YN BT &3%hol 42 cm? 2 |

Section-C

15. fgard IHdRor 3x2 — 5x + 2 = 0 &7 fafdaaas,
qAl BT Ui T fgamndl I3 &1 ITIRT IR
PEESINEEAS

gl far 1 FHidRor 2
3x2-5x+2=0
Jgf a=3,b=—5TAT c=2 7|

fafdadax (D) =b* — 4ac
L D=(-57-4(3)Q)
S.D=25-24
S.D=1
D>0
. fau w1u fgad 9HiaRer & |1 e aRdfde
I 2|
_ —btyb’—4dac

X
2a
—(=5+/1
2X3
. _ b5+l
- 5(11 5—1
o= T Al B ="
a=6/6 TAT f=4/6
Sa=17Tar B=2/3

a1t anfiee e 1 qem 2/3 2|
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16. Rig bR fb v Awepior Byt § Hof a1
et A9 <Y oTett @ It @ ANT B ARIER B
gl

. A
Bol—
D
B C
a1 Tt &- 4BC U a1 = & 5w 248C = 90°
RACa TS -4C? = AB? + BC’
- BD L AC @iaT|
YHTUT-
AADB 3R A4BCH
zA=s4 (39S HIOT)
ZADB = ZABC = 90°
*. AA FHFUAT B HHEIET A,
AADB ~ AABC
. AD _ DB _ AB :
B = BC = ac (THEY BT & AT 9510)
AD _ AB .
=45 = ac [ T8 31 310 Ug T o IR ]
ABZ = ADXAC (1)
q:[;
ABDC 3iR AABCH
ZBDC = £4BC = 90°
2C=2+C (39TTT8 HIoT)
AA TIEIAT B HHEIST T
ABDC ~AABC
BD _ DC _ BC :
AR = BO - 4C (THEY T & AT 1)
DC _ BC :
=30 = a0 [ gERT 31R 3ifaH Ug oA WR ]
“ BC’=DCXAC )
THIEHIOT (1) AT FHIDBROT (2) DI S5 R
AB? + BC? = AD X AC+ DC X AC
= 4B+ BC? = (4D + DC) X AC
= AB®+ BC? = a0 % AC
- AB?+ BC? = Ac?
Hence Proved.
HefT-10 (TFOTaD)

17. 7mSd 999 & RBReR 9 U Pad SfR &
RBRIR BT ST DI 60° 8 MR 96 U Bl
JTTTHT BIUT 4502 | BaeT SR I Sl iid

e PITT |

60° 7m ]
450

7m 7m

45° L7

Tm

HHT AB U 7cm ST 9d= © a2l CE el

efeR 2|
g,
g1, ®dol Sfar Bl $Hals =hm
al ED = (h —7)m.
31d,
A ABCH
s %=tan45°
=1
BC = 7m.
Iqys ABCD ¥
BC=AD=7m............. (1)
g,
A ADE ¥,
' %Ztanmo

LT =0s @ 1)

S h-7=7/3

S h=7+74/3

~h=7(1+ v/3)m.

3T Bad SldR B Hars 7(1+ 3 )m. B

FHMEIRA. — e IF-Tg-37 s frgresd RaRor g (2024)




18. UH g & fods & fodes S8 4em 7 T
s qard R @ aRamg 18cm iR 6cm & |
9 51 &1 a9 Yo &%l AId HIToTg |

Bol— r

r
S e B arE

6 3

27'cr1:6cm:r1:*27[ T

PR

f&eeh 1 ach YSIT &9
= Ttl(n +rz)
wl22)

+
:7{X4<u)
T

2, = 18 cm = 1 =

12
:7f><4><7:480m2 Ans..

19. 9 Sifdsi & 71T ST BT

I 3TaRTeT | 45-55 | 55-65 | 65-75 [ 75-85 | 85-95

qrqear | 3 | 10 | 1| 8 | 3
Bol—
i Jfavrel | aNexar | @ few fx;
(f7) (x)
45-55 3 50 150
55-65 10 60 600
65-75 11 70 770
75-85 8 80 640
85-95 3 90 270
LT 35 2430
2 fixi _ 2430

M ()= 35~ 35 0942 (emmm)
ara: fu Ty affhet BT AT 69.42 () B |

Hefl-10 (TIOTD) FMEIRA. - ToT IF-Tg-30 [eas fn:gled RAaor g (2024)




